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5 (the mean waiting time is 5 minutes)
H:u>5 (the mean waiting time is more than 5 minutes)
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0 (there is no association between x and y)
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H:p<0 (there is an inverse association between x and y)
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the drug given and the level o consciousness

Is there evidence f an association between
30 minutes later?

(Contingency table)

More resources from www.mathssite.com



(4001 st uvow ay3) yoo1=n:0f

school inspectors is more than 76 beats per minute)

Hy: W = 76 (her mean heart rate during visits by

school inspectors is 76 beats per minute)
Hy: W > 76 (her mean heart rate during visits by
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Investigate whether there is an inverse association
between level  supplement and hardness

SSDUL J4D2Y pup SSHUL APoq UsaMaq

UuonvId0SSL 3/1]1_15'0[] D S1 2491Y) AoYJoym 9103113‘9(\14]

Investigate the claim that the mean waiting
time for calls exceeds 90 seconds.
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indicates a positive relationship between the marks

Determine whether the value obtained
Spearman's rank correlation coefficient
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H:the type o victim is not independent

Hy:the type o victim is independent
o the type o offence

o the type o offence
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d batteries has changed from 100 hours?
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Is there evidence that the mean lifetime
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